@ 3129.00.00.000-01 KAC CB4/®-270.LB75 | 380B,50 T | 10 Gap
Karanor neraneit u cOOpOYHBIX €TMHHUII

20




42. |4023430020

biok nmopuHeBoi

3129.00.00.000-01 KIIC CB4/0-270.LB75 | 380B,50 T | 10 6ap
Karanor neraneit u cOOpOYHBIX €TMHHUII
ITo3. | Koa. Ne yepreska HaumeHoBaHue Ko

1. 4042100500 DnekTpoaBUraTeib, 5,5 kBt 1
2. 4301106300 Pemens A1600 2
3. 3129.00.00.104 lkuB 1
4. 3106.00.00.101 [Tpmwxum 1
S. [aii6a 10.65T 9
6. Boar M10x20 1
7. boxr M10x30 10
8. [aii6a 10 24
9. I"aitka M10 16
10. | 4996111673 ITpeccoctar MDR3 1
11. | 4251100202 Knanan npenoxpaHuTeIbHbINA 1
12. |3101.00.00.201 [lepexonHuk 1
13. | 3101.00.00.203 3armymika 1
14. | 4141101600 ManomeTtp 1
15. | 3140.00.00.048 3arimynika 1
16. | 4271000203 AmMopTHuzaTtop 4
17. [MTaii0a 12 4
18. boar M10x25 4
19. | 3129.00.00.120 [TnaTtdhopma 1
20. | 4490000000 TpyOka Rilsan 1
21. ["aiika M6 1
22. [ITaii6a 6 2
23. [ITaii6a 6, 65T 1
24. | 4121001000 KoHeHcaTooTBOJUUK 1
25. | 3002.00.00.000-01 Pecusep 1
26. | 3106.00.00.021 [lepexoaHuk 1
27. | 4133200300 Perynstop gaBinenus 1
28. | 3129.00.00.200 BoznyxomnpoBoj 1
29. | 4242133102 Krnanan oOpaTHbIi 1
30. | 4111324000 Kpan 1
31. bonr M10x55 4
32. | 4871402590 [TpoBon 2
33. | 3060.00.00.125 ITepexoaank 1
34. | 4381003500 VYkazareinb 1
35. | 3128.00.00.103 Jlepxarenb 1
36. | 4350010002 Pacropka 1
37. | 4350020002 3arrenka 4
38. bont M6x16 5
39. [ITait6a 6x18 5
40. | 3106.00.00.500-01 OcHoBanue 1
41. | 3106.00.00.600 Kpeimka 1

1



